	DIVISIONI   E   MOLTIPLICAZIONI   10 - 100 - 1000 - 10000

	3600 : 10 =

3600 : 100 =

3600 : 1000 =

3600  : 10.000 =

450  : 10 =

7320 : 10 =

27 : 10 =

671 : 100 =

3418 : 1000 =

48 : 100 =

372 : 10 =

34.000 : 100 =

7 : 100 =
	24: 10 =

34,8 : 10 =

7654,45 : 100 =

8317,2 : 1000 =

34,7 : 100 =

7,8 : 10 =

254,3 : 10 =

318,2 : 100 =

6,239 : 10 =

4560,75 : 1000 =

3400,7 : 100 =

27652,4 : 10000 =

0,76 : 10 =
	4 x100 =

35 x10 =

70 x10 =

8 x10 =

750 x100 =

3240 x100 =

75 x1000 =

8 x10000 =

789 x10 =

312 x1000 =

72 x10000 =

37000 x10 =

0,2 x100 =
	8,9 x10 =

45,6 x10 =

7,63 x100 =

7,63 x10 =

7,63 x1000 =

0,01 x100 =

0,34 x100 =

0,07 x10 =

0,03 x1000 =

0,373 x100 =

3156,2 x1000 =

7,6 x10000 =

4516,9 x100 =

	DIVISIONI   E   MOLTIPLICAZIONI   10 - 100 - 1000 - 10000

	3600 : 10 =

3600 : 100 =

3600 : 1000 =

3600  : 10.000 =

450  : 10 =

7320 : 10 =

27 : 10 =

671 : 100 =

3418 : 1000 =

48 : 100 =

372 : 10 =

34.000 : 100 =

7 : 100 =
	24: 10 =

34,8 : 10 =

7654,45 : 100 =

8317,2 : 1000 =

34,7 : 100 =

7,8 : 10 =

254,3 : 10 =

318,2 : 100 =

6,239 : 10 =

4560,75 : 1000 =

3400,7 : 100 =

27652,4 : 10000 =

0,76 : 10 =
	4 x100 =

35 x10 =

70 x10 =

8 x10 =

750 x100 =

3240 x100 =

75 x1000 =

8 x10000 =

789 x10 =

312 x1000 =

72 x10000 =

37000 x10 =

0,2 x100 =
	8,9 x10 =

45,6 x10 =

7,63 x100 =

7,63 x10 =

7,63 x1000 =

0,01 x100 =

0,34 x100 =

0,07 x10 =

0,03 x1000 =

0,373 x100 =

3156,2 x1000 =

7,6 x10000 =

4516,9 x100 =

	DIVISIONI   E   MOLTIPLICAZIONI   10 - 100 - 1000 - 10000

	3600 : 10 =

3600 : 100 =

3600 : 1000 =

3600  : 10.000 =

450  : 10 =

7320 : 10 =

27 : 10 =

671 : 100 =

3418 : 1000 =

48 : 100 =

372 : 10 =

34.000 : 100 =

7 : 100 =
	24: 10 =

34,8 : 10 =

7654,45 : 100 =

8317,2 : 1000 =

34,7 : 100 =

7,8 : 10 =

254,3 : 10 =

318,2 : 100 =

6,239 : 10 =

4560,75 : 1000 =

3400,7 : 100 =

27652,4 : 10000 =

0,76 : 10 =
	4 x100 =

35 x10 =

70 x10 =

8 x10 =

750 x100 =

3240 x100 =

75 x1000 =

8 x10000 =

789 x10 =

312 x1000 =

72 x10000 =

37000 x10 =

0,2 x100 =
	8,9 x10 =

45,6 x10 =

7,63 x100 =

7,63 x10 =

7,63 x1000 =

0,01 x100 =

0,34 x100 =

0,07 x10 =

0,03 x1000 =

0,373 x100 =

3156,2 x1000 =

7,6 x10000 =

4516,9 x100 =

	DIVISIONI   E   MOLTIPLICAZIONI   10 - 100 - 1000 - 10000

	3600 : 10 =

3600 : 100 =

3600 : 1000 =

3600  : 10.000 =

450  : 10 =

7320 : 10 =

27 : 10 =

671 : 100 =

3418 : 1000 =

48 : 100 =

372 : 10 =

34.000 : 100 =

7 : 100 =
	24: 10 =

34,8 : 10 =

7654,45 : 100 =

8317,2 : 1000 =

34,7 : 100 =

7,8 : 10 =

254,3 : 10 =

318,2 : 100 =

6,239 : 10 =

4560,75 : 1000 =

3400,7 : 100 =

27652,4 : 10000 =

0,76 : 10 =
	4 x100 =

35 x10 =

70 x10 =

8 x10 =

750 x100 =

3240 x100 =

75 x1000 =

8 x10000 =

789 x10 =

312 x1000 =

72 x10000 =

37000 x10 =

0,2 x100 =
	8,9 x10 =

45,6 x10 =

7,63 x100 =

7,63 x10 =

7,63 x1000 =

0,01 x100 =

0,34 x100 =

0,07 x10 =

0,03 x1000 =

0,373 x100 =

3156,2 x1000 =

7,6 x10000 =

4516,9 x100 =


